ST UDY L ENTRE

TNPSC GROUP 1 TEST BATCH - 2020
TEST X - CURRENT AFFAIRS (MARCH TO AUGUST 2020) AND
APTITUDE AND MENAL ABILITY

Which state recently passed resolution to conduct a caste-based census?

a. Kerala b. Bihar c. West Bengal d. Odisha

MHevSFHe0  grgleuntl sabbaBlemL  BLSHHUSBHTET  SHTOTAISHMS FBUSH  BHlevmpGeumnsiul
LOMHI6OD 61817

a. Gagenm b. i c. GuBe euRISTEND d. @uar

What is the name of the recently launched scheme that aims to provide nutritional support to
pregnant women and adolescent girls?

a. Pradhan Mantri Suposhit Yojana b. Suposhit Maa Abhiyan

c. Suposhit Janani Yojana d. Suposhit Beti Abhiyan

sTUdewllll  OuewideT LOB®ID eueflend OCUENIBEHEE oM L FFHH QIPRIGUSBHTE FLOLSHH 6
CTLmIsS meudbslILl L S L GHlen GLuIT ereren?

Lyswifler Helg oL oaléb@Gld S L LD

STUIHG Bl o6 L oeMHGD LIF&FFTyLd

BeiG o L 1oeb@G @evet Guimegentt

o | FFHFH GHMBUTH LIFFFmILD

oo

Which state has recently launched a digital literacy programme titled ‘I am also digital’?

a. Odisha b. Kerala c. Karnataka d. Tamil Nadu

‘BIAIDIL. 1P LeOFHTeT  618IB SO LILILL @ eIl ed &BBeL HLHmSH FLoISHH 60
SIBlpsd GFu1sh WwIHeD 61%H17?

a. QIeaT b. Gayenm C. SBTL&BT d. 50066

‘NIGHA’, a mobile application to curb election malpractices, is an initiative of which Indian
state?

a. Punjab b. Rajasthan c. Gujarat d. Andhra Pradesh

CapTmper (WPmpCahamer @bhdsGudBaTs, ‘NIGHA’ aam m »maCudl Gswelemw ST mg
MaUSHHH BDbFHWImeler 6bd LOMHeVD?

a. UEhaLl b. gregerdsmest C. GH2|UTH d. apArnilyGsaid

World Health Organization (WHO) declared Covid-19 as a pandemic. Which disease was
previously declared as pandemic by WHO?

a. HIN1 influenza b. HIV c. Swine Flu d. Spanish Flu

® & FHTHM Bpeuerd Casmall -1993 @ CQUHHBOSTBBI o8I DPlelsHHeTNEH. ASBEG (PETLTSH
b GBI 2 60h FHTHT Hpeuetd CUHHOSTBM et DiBlaldhHa?

a. HIN1 geien6uweiam b. eFmal C. USIGBHTUIFF60 d. evunefead Liem
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11.
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‘World Cities Summit’ is a global biennial conference hosted by which country?

a. United Kingdom  b. Japan c. Singapore d. United Arab Emirates

‘o ova QumpaIEsar o Ffwompr® (World Cities Summit) eiaiug SyeniL meniBaensE QLD
BHOLOUBID o eudemmalwl o & 1ompTH SW. BwdH BLSSHID BIH 6157

a. @mRIBeMHSI b. satmes C. Fmisligt d. ;masdw oy endGyL(Heseit

Which state recently announced that the Sanitary Personnel employed by urban and rural
civic bodies shall be called ‘cleanliness workers’?

a. Kerala b. Tamil Nadu c. Karnataka d. Maharashtra

BSTILB BB SITolys BiTeuTs SenLILSETTe0 BWeid OFWIwiuGL SHIYFe|l L6l WTenTaHel
‘Gmuientoll LIewflWTeniTeel’ 6Ieiml DIenPSSLILIGEUTTS6NT 6aipl FUILSH60 61hS LOMHeOD SSlelssaI?
a. Gayenm b. spETH C. SHTBIL&T d. wasmyradgym

First global Artificial Intelligence Summit RAISE 2020 was held in

a. France b. United States c. India d. United Arab Emirates
‘RAISE 2020" e1afip 2 eodleit  (psevToug OQFwbens Hiewewpfe o FF ompThH  6hdH BT I196D
BLbSSI?

a. Ugmeserd b. o@wMéar c. ®pdHwrr d. madw oy Gy Baer

What is the name of the Central Government’s economic package for the poor to fight the
coronavirus pandemic and lock-down?

a. Prime Minister Gareeb Kalyan Scheme

b. Prime Minister Annadata Scheme

c. Prime Minister KISAN Scheme

d. Prime Minister Gareeb Suraksha Scheme

CamGymemm  emeugerd  QUEBHHOSTBBWI LOBEBID  COUTH  (WLEBHMDSH  IHTOBTETEHLOUTHLB  JenLp
EBHEHHITH HHW s Sipfaldhgleren QUTHTHTT COFHTGULNeT GLIWIT 6T6Ten?

LysLoflent eJemp&eT Hovd SHL L LD

UysLofler oieensHTend S L LD

Uysioflet &lgmer gL Lb

Uysofler gJempseT UTHISTLILS HI LD

an o

Operation Namaste’ is the initiative of which Indian armed force to combat the spread of
COVID-19 in the country?

a. Indian Army b. Indian Navy

c. Indian Air Force d. Indian Coast Guard

‘alBrager  euemisasd’  (Operation  Namaste) LG BILIged  Gsmall -19 LIFeumevs
s BULGSSHNSBETS @bHFHWwTaler 6bhdh SUSLILDL CBTeRIB aubdH S LD SLEGLD?

a. BpHHu JTEICIILIDL b. @b sriLBUeL

C. @b alTeriLient d. @bdw &8ty &Teusd LieDL

For the first time in 2020, April 5 is observed as which day by the United Nations?
a. International day of conscience  b. International day of promotion of love

c. International day of peace d. International day of promotion of culture
2020810 SLEWIgEDL  (IPHET  (PdBWITE  glged  Sib g medlw BTHH6T  SiewolIleTmed 616516
FHenors DienIFfbslILbGHBE?

a. geuBs»a engm g gleurd b. 5aBsH5F el QIENTeHGD 6D
C. 5TauBhHg SIewID  &levtld d. #reuBss seongany GuibuT B Heord




12.

13.

14.

15.

16.

17.

What is the tagline for World Health day 2020?

a. Support doctors and health professionals

b. Support nurses and midwives

c. Support health care

d. Contribute to health care

® & FHTHM Hemd 2020a1 GP&FCFTEL 6urfl eT6sT60N?

(HSHHIOI UenlWTeTTH6T OBBILD FHTHTT 6UELIHTHEHHEGH UHT6Y DieflliGuTLD
CFallellwiaeT WBHBILD STHWTHEHHGH ST DeilIGUTD

SHTHTIL ugmofiysE SuFHTe DlemMiGumd

&HTHTIL ugmofiygs@ umieemiGumDd

oo

An initiative of “Arogya setu interactive voice response system (IVRS) service’ has been
launched by the centre in association with which state government?

a. Odisha b. Rajasthan c. Kerala d. Tamil Nadu

b WIHev SFHT sTaLer wHHW o ‘brmesdlw Csml meleyteaead (interactive voice
response system) Gzameuenwid OCHTLBIS meushHH?

a. Quea b. yregerdgTest c. Gayenm d. s0wBT6H

‘Jeevan Shakti Yojana’, a scheme to encourage urban women to make masks, is an initiative of
which Indian state / UT?

a. Maharashtra b. Madhya Pradesh c. Odisha d. Chhattisgarh
BSTILBL OIS (Ppdd Seugmibemend Swnflliumg easGalliugsBared ‘o ulT FHs S’
(Jeevan Shakti Yojana) eeiB @k SHLsms abs wime o / welues UiCss ops
CaTLmg meushHsHH?

a. SMITaQYT b. wsHwilr NyCxHaib C. QIoaT d. g5HassiT

Thangjam Dhabali Singh of Manipur has been conferred the ‘Order of Rising Sun’. Which
country constituted the award?

a. United Kingdom  b. Japan c. Saudi Arabia d. Germany
wenllligenysd  Caibd HmMd  Humed Fm ‘o T ot odm  F&I 6B UL  6UpmIS)
CaengaldsasliLlGetenmT. @bhs alhensd 6bd BTG gBUbBHSHUWIS?

a. @mRdeTha b. sgriumest c. Ggend) oGy lwim d. Gggmpef

What is the name of the operation launched by the Indian Navy, to repatriate the Indian
citizens stranded in other countries?

a. Samudra Setu b. Welcome Back

c. Navy Setu d. Samudra Shakti

@51 BIhdele FobHdh HalbGD BHHW GHQULEIMENT SHHOL DIDWHSH M(HAUSBEHTES BbHHWI
slUBUML OFHTLESW FHLSHHBG ere6en GuuwiT?

a. susHFy Crgl b. Geauevsid Budb

c. Gpal Gzzl d. sy F68)

‘Flying Bullets’ is associated with which armed force of India?
a. Indian Army b. Indian Navy
c. Indian Air Force d. Indian Coast Guard
‘uBseb  guuTsds  Gauibser (Flying Bullets), @pdwmaler 6bg — SpuSLiLenL L e
OHTLITLemLUIGHI?
a. ®pHHu Brmemield b. @b sLHBLeL
C. @phHu alomerienL d. @bFur &LGeOmy HTaUed LiGnL
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19.

20.

21.

22.

23.

24.

When is International Everest day celebrated across the world?

a. May 29 b. May 31 c.Jun1l d.Jun2

2 U (PpuUHID FTauBHa eleuGTeOl Hlald eaienBHEG DleFfebasiLGaBs?
a. G 29 b. Gw 31 C. ageent 1 d. sgreir 2

What is the name of the technology-based platform launched by the indian prime minister,
for MSMES?
a. Champions b. Jeevan c. Nirbhar d. Udyog

&n Fo BB BEHSHT BTN HBleUETHIEEHHSTS HAHWL LIFHTTe0 OFHTLMIS  meudbSLILIL L,
CamleomI LD SiglitienLuleomer GenLufer GUIWIT eTesTer?

a. FmbLIWeTH6I b. ag°euest c. [irur d. o 5Curs

Which Indian writer won the regional award for Asia of the commonwealth short story prize,
20207

a. Kritika pandey b. Madhuri Vijai  c. Kravind adiga d. Vikram seth
&Mebelsvd Fpisemdader ufled, 202000 Fw  gmhHusHBsrer  alpmd 6bhH Db
eI(RSHHTENT  GleuedrmmiT?

a. dmpsHaT urtewiG b, wrgfl algul C. oalbaHHsT d. alsynGss

Indian naval ship kesari reached which country to provide essential medicines under mission
sagar?

a. Thailand b. Sri lanka c. Seychelles d. Australia

FTaT  HLLSHASD, DIUFTHTEL LO(HHSBIBHEN6T GUPHIGUSBITH BHHUl SLBUmLS HlLed Bpaf
6b®H BTLMLF OCFaip SiewLHHHl?

a. SIUIOMHS b. ®evmiens c. Gg@Feverd d. eLevgGreduwim

Who is the first Indian to win the prestigious Richard Dawkins award?

a. Arundhati Roy b. Javed Akhtar

c. Gulzar d. Chandi, Prasad Bhatt

CummWHGTW M&EFTH LTdbdHleaen alhmsl GUBB (WHed @HEHWIT wmiT?

a. OIHHDHH JIul b. orals oiBHT

C. G6OFT d. spd), Wysrd ul

Who is the chairperson of the committee reconstituted to look into the welfare of freedom
fighters?

a. NK Singh b. G. Kishan Reddy

c. Ajay Kumar Bhalla d. Nityanand Rai

GahIHIL CumgmiL eijTseier Hevsismen GuUamleSHBETS LOTHBH DIMDEBLILLL G(UDaN6T HEn6evaT
wiir?

a. aar.Gs. Fm b. &. dager Gy g

C. OIMUI GLMT LeLEVT d. Pswnenss yrul

Which Indian state has formed a dedicated commission to create employment opportunities
for the migrant labourers?

a. Odisha b. Maharashtra c. Uttar Pradesh d. Bihar

G 1bOLIULI(THLD Qame0TeNTHEMHSHS) BauemeveuruilienL 2 (HeUT&HE6UHB0O\SH60 HETUITTOSHT(T,
SLMMILISHMS 61hF LoMHlevd CHTBmIaTSHaleTeng?

a. QaT b. wasryTadgyD c. 2 $x70 LGsab d. e
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26.

27.

28.

29.

30.

31.

Who has been conferred with the lifetime achievement award for his contribution to
statistics?

a. D Subba Rao b. C Rangarajan c. Bimal Jalan d. Y V Reddy
yemefulwensh@ SHrer oumriul URIS6TlLSSTS aUTDHBTET FTHeneTTenT all(hdl eUPmIGLILL L 6uT Wt
a. 19. &M Jmul b. 4. QyrisyTegest c. Lioed eg6vmest d. equial. Quliy

Who has been appointed as the new prime minister of France?

a. Jean Castex b. Emmanuel Macron
c. Edouard Philippe d. Mikhail Mishustin
Upreiidlesr yglw Ugsogms mlwbldsiul LeuT wimr?

a. o8& BHTervGILderd b. ®ibwreniGaied &EGyTesT
C. eI GQLemeum® N6Vl d. Wemsed Hagrerdiges

‘Mission Vriksharopan’ is a plantation initiative of which Indian state?

a. Uttar Pradesh b. Bihar c. West Bengal d. Chhattisgarh
‘Weager all(HhdHagBymueT eleUGl 61hSH LOTHeVSHE OJD HHW (Wwmd?
a. 2 $ay0 Lg8xHaid b. & c. GuBE eUBIBTENILD d. ggdevsi

Which state has the highest court of inbred tigers in the country, as per the national centre for
biological science?

a. Madhya Pradesh ~ b. Rajasthan c. West Bengal d. Karnataka

Cxpdlw o ulflwed OPialwed mWSHHEILY, 61HS LOTHEVSHSH 2 _6TH60LL L|eVISH6T60 6166w &end
Wsa|b DIHSWD?

a. wHHwO gCmhaid b. gregervsmest c. CuoBE eumiETeTD d. smprsm

Which country has notified the United Nations about its withdrawal from the World Health
Organisation (WHO)?

a. China b. Russia c. United States d. Germany

abd BTG 2 605 &SHTHT DoWLINmHEH STl allevaslbosmearar al(pLUSTS WESHU  BTHSH6
SiemwliLd opfaliy CguigleTeng?

a. e b. gejwm c. 96fdbasT d. Gmoed

The Union Defence Minister of India has inaugurated six major bridges in which state/UT?

a. Sikkim b. Jammu & Kashmir

c. Arunachal Pradesh d. Uttar Pradesh

DHHUW  UTHISTILS SHOB SIMDFFT 6h% WMHosHH0 / welwe 1M8xsFHdHed uml (phadlul
LITEURIBM6TS HMHAH m6euHHI6TeNTT?

a. s b. mmbap sTEHST

c.  omewmmgeoll LIp@sab d. o szy0 yCHgFD

Who has been named as the recipient of the 2020 Von Karman Award of the International
Academy of Astronautics?
a. Dr K Sivan b. Dr G Satheesh Reddy

c. Tessy Thomas d. Ritu Karidhal

FTauBsha alewiOeued oETLOUIET 2020840 SemiBHETOr  Coutert  &Twer  alHBHISSHS CHiTey
QauiIwu’HemermeuT  WImT?

a. LmaLT.Cs. Heues b. LmsLT. 2. FFas Glig

c. Qyerverd &miperd d. fea sfsme
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32.

33.

34.

35.

36.

37.

38.

39.

| APP€ L]
—ERERNAT
Which state government has launched the ‘Operation Muskaan’, to trace missing children?

a. West Bengal b. Maharashtra

c. Andhra Pradesh d. Gujarat

sreoimioed  Cumest  GhmBEmend S BLRILSBETS, ‘CTAET (PEVBTET 6188  H L Hend)
ohS LOMHED OIF& OHTLEIS meudHHieiengi?

a. GuB@ eumismend b. wsmyTadgyT

c.  gpFHIn LgBxHabd d. oS

Which country has launched its spacecraft to Mars named ‘Hope’?

a. Israel b. North Korea

¢. United Arab Emirates d. China

saablisms (Hope) eaam OQuuiiLiul Geten  SHeaiaienLw  alaitelell  @LSHmg  Glgeieum
BIBSIBG bd BTG ST meuSBieens)?

a. BBy b. e Qamilwr

c. medw oy endGrBasel d. e

When is ‘Global Tiger Day’ celebrated across the world every year?

a. July 27 b. July 29 c. July 31 d. August1
® VB (PIPUBID Q6UCUT(H SLWIBL ‘@ 60&d Ledlse BeT eiGUTEH GamewrmLiLBaSBg?
a. ogeewev 27 b, sgeemev 29 C. ogeamev 31 d. amedl 1

When is Sanskrit Diwas (Sanskrit Day) 2020 celebrated?

a. August3 b. August 4 c. Augustb d. August 6
gerd(hd HreT 2020 eiGurgl OsmemiL T UuGaSBE?
a. oimel 3 b. symedl. 4 C. OB6OL. 5 d. sysevl. 6

When is the “World Biofuel Day” is celebrated every year?

a. 8th August b. 9th August c. 10th August d. 11th August
@6UGleuT(H SLemiB ‘@ evad o ulfl erflOuTme HreT 6ICUTH SieFfobslILBSBSI?
a. 8 gumerL b. 9 eymevr’ C. 10 symerdl d. 11 gymerdl

Which Indian state is the top performer in implementation of Atal Mission for Rejuvenation
and Urban Transformation Scheme (AMRUT)?

a. West Bengal b. Gujarat c. Odisha d. Maharashtra

UsglewiTadd] oB@Id BSTIYB WLIBB SI'Led Wegsl HLHmHF CFweoLBGHHIUH0 (Lpeiterentued
® 6o @b&Hul LOTHeVD 6157

a. GuBg eumiETeD b. &mIms C. Qloam d. wamyradgym

What is the name of the e-portal launched by the Tribal Ministry for promoting tribal health?
a. Aarogya b. Swasthya c. Vandana d. Tribal Raksha
UBIGQUIRTT  &ETHTTHMS  CbUBSHBHMNSBHTS  UPRIGRUIEIT  HL  DWEFFSD  CFHTL M)
meushBleien @-Cumtl L elledr GLIWLIT eT6sTenr?

a. oGymeéawr b. eveuerdg g wim C.  aubGHeo d. enyued FHagT

Which city has won the cleanest city award in the Swachh Survekshan 2020 survey?

a. Surat b. Indore c. Navi Mumbeai d. Trichy

g F16e 2020 HeidhOBBLLNL HEad SHTUIMLWTET BIFHHMBHTT al(Hmd 6CeusiB  HBJLD
61&I?

a. &I b. ®pasnT c. mal (pbenL d. FHmsd
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41.

42.

43.

44.

45.

46.

Which state launched a subsidized meal scheme named ‘Indira Rasoi Yojana'?

a. Chhattisgarh b. Rajasthan c. Punjab d. Telangana

‘@bdHym g@amus Cuirent’ el Tl elemev o ewieydh HULHMSH 6hH LOTHEVD BT M)
MeUSHBHI6T6NHI?

a.  FHHRHBIT b. pregerdgTest C. LEhamLl d. QzemisTeT

Which state has the highest number of women beneficiaries under the MUDRA Loan scheme?

a. Kerala b. Karnataka c. Andhra Pradesh d. Tamil Nadu

WSHIT  SLT  HLSHGISD  [BIeNg  ouedJ, DHd elewienfidbenduileomer GUeRT  LILIGTToHem6)
OsmewrL  LoMHleVD 6157

a. Gayemm b. siprLsT c. b LyGsaid d. s0pETG

What is the name of the longest serving warship of Indian Navy, that is to be dismantled?

a. INS Viraat b. INS Vikrant c. INS Vishal d. INS Vikram

ObhHw sLBumLUIed We DFs ST Cemeuwmmp, sBCUTEHI SiBBBULL 2 eten GumTdaLiLedes
QuuwiT etedteDT?

a. gelaiielerd aflym b.  ereiterery all&gTHSG

C. qeTaiielend alARTeL d. ereiiererd aflaiyid

The Central Government Health Scheme (CGHS) has initiated teleconsultation services using
which platform?
a. e-Sanjeevani b. Aarogya Raksha

c. Aarogya Setu d. Corona Kavach
WHHW SIFlaT FHTHMMH SHLLD 6bhdH HNMHMmSL LWLALGSSH FTemev SiGevrgeamen Caemeusemens
CaTLmg meudgieieng?

a. B-gehFeue b. aGmsduw yoHagT

c. aGmsalw Cag) d. Oan@ymemm SHeud

Which government scheme has recently completed six years since inception?
a. Atal Pension Yojana b. PM Jan Dhan Yojana

c. PM Jeevan Jothi Bima Yojana d. Atal Bujal Mission

wHHW IFT 6bhdHH SHLLD DiFH OHTLMEE USESIULBH B ewiBHm6T FLOLSHH6L [Hlenmse
Qauigleieng)?

a. 9 L6 Queitager Guimegesm b. yswiear meser Guimsgert

c. Ugsofear agreuer Gegrd) lwom Guirggenm  d. OI'Led Med Wages

Name the country which has become the 1st “Dark Sky Place’ by International Dark-Sky
Association?

a. New Zealand b. Tonga c. Samoa d. Niue

sieuBss sm-outer  gnlLewwlnled (Dark-Sky Association) (pgeomeug &@m euter @)L LoTs
Gaibglelien BT 1960 OILIUIT 6T65T601 7

a. puwdeorhbal b. GamhisT c. g@uwmeur d. By

Which state government launched ‘Operation shield” to combat COVID-19?

a. Maharashtra b. Uttar Pradesh c. Odisha d. Delhi

Gxmall -1993  aHTOHTETUSBHTH  6lHFH OTHL & ‘Brager aded®B’ 6B H L HmHH
CHTLMmIS eweudbHHlemeng?

a. LD&TITRRQYT b. 2 a1 nly8saib C. QIoaT d. GLeved
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48.

49.

50.

51.

52.

53.

54.

| APP€ L]
—ERENNAT
Name the Indian-origin girl who named NASA’s pioneering Mars Helicopter ‘Ingenuity’
which will be the first aircraft to fly to another planet?

a. Gunjan Verma b. Vaneeza Rupani

c. Shruti Seth d. Sunita Singh

GO HISSHHBGSU UWewd CFUIWS  dalgul  (pGHevTeugh  alllomenomslul  pramaler (WeTGeiy
Qgeueurul OamelsTiL(héhE ‘UdHdH &iemw’ (Ingenuity) eeip GUWT meaudd @b eubsTeuerlLl
Gliewremllenr QUILLIT  6T6dT601?

a. GGHTFET eUTLDT b. Geueltam (mumTeN

c. evmpd G d. selgr dm

Which state launched “Mukhya Mantri Shahari Rozgar Guarantee Yojna”?

a. Assam b. Mizoram c. Manipur d. Himachal Pradesh

‘(wHeom&FFT BSTILB GCousmeveuruili o miFwefliygd SHULD’ g OFHTLMIS  eusHHleen LOTH 60D
agl?

a. SerOeomDd b. 10Gsmyd C. LoGmTLILLT d. ®wrgeors yGxad

What is the name of Russia’s first satellite which will monitor the Arctic climate?

a. Arktika M b. Arctic R c. Kobalt d. Skektr R
THIYS HTEVHENeVMIIS HEIBTHGHID Tagwmaler (pHeoTeudk CFwuBensd Gsmefler GUWIT ereten?
a. SYTHIQSHT 61D b. eyidpd oy C. Bamumedl. d. Skektr ey

In June 2020, which country has become the 4th country to host a deep space ground station
after the US, Spain and Australia?

a. India b. China c. South Africa d. Russia

SIOwfdsT,  e0GuUler BBID  DEOHCTIWT  BTEBMeNTSH OBHTLIHSH 2761 202060  LLOLOTED
alewiOeuell Hewy HeweowdHend HLSHSH 2 6ilen 4eugkl BTH 61%H7?

a. @bawm b. Ferr c. et oy ifesT d. geswr
Which of the following railway zones developed ‘Rail-Bot’?

a. Northern Railway b. North Eastern Railway

c. Western Railway d. South Central Railway

eteubd JuleuBeu LDGWIL 6LUHIGB6MED 61hG LD6WIL 6D ‘Fuied GUTL’®y o (Heurdhalujeeng?
a. aLdE OruleoBeu b. e dpsE ByuisvGe

c. Gumg ByuledGe d. Gzar wHHW ByulevBe

Recently, who became Kerala’s First Woman DGP?

a. R Sreelekha b. Sreelakshmi Nair c. Laxmi Mishra d. Naina Singh
FuSHe0 Cayenmalle (WHev Ouewt WL SLE SLeETEUT WIMT?
a. ot nfGevam b. nfeodsapll BT C. oudbayld Wadym d. ewperm S

In May 2020, a cyclone named Amphan hit and devastated vast mangrove forests in which of
the following states?

a. Andhra Pradesh b. Maharashtra c. West Bengal d. Tamil Nadu

G 202060, SIDLIGT 61T GMTU6T 61hS LOTHELHHL © 6iTem LJHS IRIGETTel HTHDHMET HTHSD)
SlPSSleiens?

a. oA yGsaibd b. wasmymaggyT c. GuoBE GURIGTEINID d. s0pETG

‘Social Bubbles’ one of the ways of effective social distancing strategies to keep the Covid-19
curve flat is based on the “household bubble” model of which country?
a. Italy b. South Korea c. Norway d. New Zealand
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56.

57.

58.

59.

60.
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DY CENTRE

CHENNAI
Camall -19 cuemenenal SL LTS MUSH([HDBS LILgIeTen Fepd OHTemeodn] o dHHlseflar eufserfeo
REBTHU ‘Fepsds SIS 6hFH BTl ger ‘el (s G’ wrdfleow SngliLenLwnsd OHTemrLgi?
a. 853160 b. Gzt Qsmilwim c. BiTGsu d. pludleorba

The headquarter of India’s first online delivery based natural gas trading platform named as
Indian Gas Exchange (IGX) is located at

a. Lucknow b. New Delhi ¢. Mumbai d. Ahmedabad

gpHw  afeuryy ufomppd  (Indian Gas Exchange) eeiiy  Quuifiiin Getenr  @balwuraies
(WPFHVTaUH  eitemevsst  alHCWTE  SugliueLulleorenr  GuBens  elfleumu]  THHS — HeNHH 6
SHWeoeUWIL LD 61h%H B GHFH6L DIemLDbHSG 6o ?

a. evsGerm b. ys GLeve C. (LpLbemL d. sswsIUTS

India ranked at which position, in terms of FDI in 2019 as per “World Investment Report 2020’
by UNCTAD?

a.12th b. 9th c. 14t d. 16th

UNCTAD 9iemwiiy QeuefuilBeienm ‘@ 60s (p5H6eSl (b ifidems 2020°ay, SibBw Ghrlg  (Wwa&HesH
2019 sgliuemLuled @hHHUIT THHMmeLTeus B sHFHleo o eiengi?

a. 126zl b. Yeug C. ldeug d. 166ug

Recently, which space agency has finalized the design of the Habitation and Logistics Outpost
(HALO) for its Gateway Lunar Orbiting Outpost?

a. NASA b. SpaceX c. ISRO d. ESA

FUSH, 6bhF aleubeval Hpeuaid SHeaienienl W HiewwauTulled FhalF SBBILILTDS LBSHST6U6)
BensowsSmaten (Gateway Lunar Orbiting Outpost) eumpeilL b OBBID  SHeTeUTL HIS6T  LIBSHSTEI60
peveowisser (Habitation and Logistics Outpost) augeueniotient @mig) QFuigieieng?

a. [mBrgm b. adB@uerd e1d6rd c. ®avGym d. mam

Which of the following railway zones has launched ‘Captain Arjun’ Al-based robots to
intensify surveillance and screening of passengers?

a. Northern Railway b. South Central Railway

c. Central Railway d. North Eastern Railway

uwenfisefen semiaTenilL wBBIb uflCaredmearmw SHalJlILbGHBHISBHTES  LleTeu(HeleareuBBIeT 6lhd,
Tuile0Beu  eWILevD GFwBensd Hiewewsley SgliemLuleomer ‘Galier  ofTegrer  CrmBumdaeme
SV PSUILGSSLeTTenS1?

a. aLdE BruleGe b. au wHHW ByuievBeu
c. wHHW BruieoGe d. e Hpse @ruieoGeu
Find out the correct pair

a. Khel Ratna Award - Ranjith Kumar

b. Dyanchand Award - Mariyappan Thangavelu

c. Arjuna Award - Dutee Chand

d. Dronacharya Award - Manjith Singh

gllwmer Senenienuld SHTeH

a. Gaevygdhenm all(hal - JehFld GLomiT

b. Hwneign alma - omiwliueT  HhisGaiey)

C. olfeggam almal - Bl &hHo

d. sGmewm&antur elma - wehdldH i

The state archaeology department - unearthed 13 burial urns at
a. Sivagalai b. Kheezhadi c. Kodumanal d. Aadhichanallur




61.

62.

63.

64.

65.

66.

67.

FBUSHHL 1THe0 CFHTeLeIWs0 HIMB 13 (PHIDSHTHTIIMUI 61RIG HeWTOL BHBHH?

a. deusemev b. & C. Qam(BLosmTed d. egFameveunt

The ratio of boys to girls in a class is 7 : 8. If the number of boys is 56. then, find the number of
girls.

a. 60 b. 62 c. 64 d. 66

RH UGLLID SewiHeT BB OCuedisefear aldlad 7 : 8 uGWD. ewiseriler elemwienlbms 56
aTedlleL GlLIewTas61Ment eTemT6u0N bem  6T601601 7
a. 60 b. 62 c. 64 d. 66

IfA:B=7:4,B:C=7:6thenfind A:B:C?

a.56:28:24 b.49:28:24
c.48 :24:28 d.28:49:24
A:B=7:4,B:C=7:6¢afle0 A:B:Car wdHiy Srems.
a.56:28:24 b.49:28 :24
c.48 :24:28 d.28:49:24

IfA:B=4:5B:C=6:7C:D=2:4thenfind A:B:C:D

a.24:30:35:70 b.24:35:30:70
c.24:70:35:30 d.30:70:35:34
A:B=4:5B:C=6:7C:D=2:4aafle0 A:B:C:D et i sreis.
a.24:30:35:70 b.24:35:30:70
c.24:70:35:30 d.30:70:35:34

Ifa:b=4:7,b:c=21:25then find

c® - b?

2 +b?

LB 2 N )
530 533 489 1066

Three numbers are in the ratio 3 : 5: 7 and their average is 90. Find the smallest number?

a. 50 b. 54 c. 42 d. 30

PSIMI 6TewId6T 3 : 5 : 7 oI alHHHHe0 o eiener. Sleummlent FITFA 90 eTefled DielGIEUHITH6NT 60
WasFFBw  e1eu61?

a. 50 b. 54 c. 42 d.30

Salaries of Ram and Murugan are in the ratio 2 : 3. If the salary of each is increased by Rs.
4000 the new ratio becomes 40 : 57. What is Murugan's salary?

a. 50000 b. 36700 c. 46800 d. 38000

gD LoBEID (WP(hHBeNer Fbuend 2 : 3 6B aldssHHe0 2 etengl. Goed FmBHOTH B(HeU(HEHGLD
@ 4000 &uembd o WiTh D CuTWs SeuBpler aldlsd 40 : 57 SLEBHI  CTETBTEL  (LP(HEBH6T6N
FLDLIGTILD  6T60160T?

a. 50000 b. 36700 c. 46800 d. 38000

A bag contains 50p, 25p, and 10p coins in the ratio 5 : 9 : 4, amounting to Rs. 206. Find the
total number of coins in the bag?

a. 540 b. 600 c.720 d. 800

a@m euulsd 50p, 25p, wmmid 10p SFw ETewwmEsT 5 @ 9 : 4 8B alFHs5He0 2 slemer
Slmausefledr  OoThs  WwHOY @ 206  eaeled iewUuld o 6Ten  OOTHSH  HTERILIMIG6T6
6TEUTENT 6N BN SHTENIS ?
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a. 540 b. 600 c. 720 d. 800

68.  Salaries of A, B, and C are in the ratio 2 : 3 : 5 respectively. If their salaries were increased by
15%, 10%, and 20% respectively what will be the new respective ratio of their salaries?
a.23:33:60 b.24:33: 64 €.22:33:55 d.10:11:14
A, B opgib C guemd apedpBu 2 : 3 : 5 aaip aldsHsHHed o elener. SauTdele  FLDLGTLD
wepBuw 15%, 10% wmmid 20% oiHsNsHHmboTe0 SieuTseiesn FbuenbHer LB aldFD ererer?
a.23:33:60 b.24:33: 64 c.22:33:55 d.10:11:14

69.  The ratio between the present ages of Ram and Arun is 2 : 5 respectively. After 6 years Ram's
age will be 30 years. Find Arun's present age?

a. 50 b. 60 c. 64 d. 30

gD LoBEpID SiHewiet SHBEUTMHW euwigl aldHd 2 : 5 gmoer euwgk 6 SewNihaeEndh@ e 30,
ooy SihHewllal HBOUTEMSHUI 6UUIGI 616016017

a. 50 b. 60 c. 64 d. 30

70.  The average age of a Father and his son is 36 years. The ratio of their ages is 5 : 1 respectively.
What will be the son's age?
a. 11 b.12 c.13 d. 14
SHHVSH BDID SleugsH waeler Fgrafl euwig 36. SeuTdefen euwg aldsHd 5 : 1. eefled a6
SBOUTMSHUI 6ULIF 6T60T60T7
a. 11 b. 12 c.13 d. 14

71.  The ages of vijay and kamal are in the ratio 15 : 17 respectively. After 6 years the ratio of their
ages will be 9 : 10. What will be the age of vijay after 6 years?

a. 40 b. 30 c. 34 d. 36

almul oBEpId swele HBEUTMSHW Gl alFSD 15 : 17 6 SLawiBHEhHS LIS SDIUTHTSHI UG
aldlpd 9 : 10 erefled 6 YeIBHEHHG Llar alluiler euwig ereiteo?

a. 40 b. 30 c. 34 d. 36

72.  The ratio of ages of three numbers is 3 : 4 : 5 and the sum of theirs squares is 1250. Find the
sum of the numbers?
a. 30 b. 50 c. 60 d. 90
ceiipl eTewibefelr aldlad 3 : 4 : 5 wBpd SeupPear aTdsnidaiar gl BH FHTensd 1250 slefled
bHF eTeniB6er Tl BHOHTMD HTewis?

a. 30 b. 50 c. 60 d. 90

73.  Ram is 40 years old and Ranjith is 60 years old. How many years ago was the ratio of their
agesis 3:57?
a.5 b. 10 c. 20 d.37
gmfler HBCUTMHW euuwighl 40, TehdHH eug 60 61HHMT QUHLMIGHET (LP6ITL] SIGUTH6IM6T 6UULIG]
3:5 aldlgb e BmHEHGn?
a.b5 b. 10 c.20 d.37

74.  The present age of father is 4 times the sum of the present ages of his two sons. 10 years hence
the fathers age is 2 times the sum of present age of his two sons. Find father's present age?
a. 50 years b. 55 years c. 60 years d. 65 years
maflar SBCUTMHW gk Sleuflar @ HeaTdHaiar oSSl gnl HHosTansemuis Gumed 4
LBIG o 6fengl. 10 sumLmsEendE LUIpg oeuflear euwgd &  waaiseiar  euwigidere
&L (BHHOBTenHMWLI GUTed 2 IDLMIG &G elaled Slaufler HHBOUTMSHUI 6uUIG 6T60T60T?
a. 50 augpLLb b. 55 au(pLLb c. 60 eu@pLID d. 65 au@pLID
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The present age of Ram is 6 times his son's age. 4 years hence age of Ram is 4 times his son's
age. Find the present age of Ram?

a. 36 yrs b. 30 yrs c.24 yrs d. 28 yrs

gmb  etestUeuflel euwigl SHeoT WwEHala e Sl Gumed 6 MG, 4 UHLMIG6T HPHH Sleufler euuig
& UGl Gumev 4 LM eefled Jmflet SBOUTMSHUW UG 6TedTenn?

a. 36 b. 30 c.24 d. 28

A boy is twice as old as his sister. four years ago he was thrice as old as her. what are their
ages now?

a. 18,9 b.14,7 c.16, 8 d. 12,6

RHaUsT Heit FCaTHMemw el @Tewi(h WLEIG UG DIFHHD. BTG UHLEISEDHDHE (LT Siee
g1 FCanpflenw el cpaipl LHIEG S DHSD 61aled SBOLTIDH DieUTHET6N 6UULIZHI 6T6T60T?

a. 18,9 b.14,7 c.16, 8 d. 12,6

If 30 men take 80 days to complete a work, how long will it take if 30 more men join them to

complete the same work?

a. 20 days b. 40 days c. 60 days d. 45 days

30 oueisel h Gousmevenwl (pigdhs 80 [HI6TH6T 6IhSHHIS OdTeteuT. elefled SlouTaEmHLe GLogiD
30 oemizel CaiphaTed SIBFH GeusmeowlTerigl (PIQUI 61HSHM6T [BT6ITH6T hGLD?

a. 20 B et b. 40 B e c. 60 mI e d. 45 ® seit

3 women or 7 men can construct a room in 88 days. How long will it take for 6 women and 8

men to do the same type of room?

a. 27 days b. 28 days c. 29 days d. 30 days

3 QuemidelT SIeVeVHI T DWIH6ET QT DB 88 Breidbefled &Lllg (wpllT. OB Cumem
DB 6 OLIGWIH6T LOBBID 8 DewIH6T S (PYHd 61HHEM BTSN DLEGHLD.

a. 27 B sei b. 28 B seir C. 29 mrlser d. 30 mr el

A and B together can do a piece of work in 32 days and A alone can do it in 48 days. How
long will B done to complete the work?

a. 48 B. 96 C.90 D. 84

A voppib B e @meupd Qevenihal @b Couemevenwt 32 pmreisefsd (wpplur. A seiCw b,
BGouemevemwl 48 mTeTHeMls0 (LT e@iled B HalBu  orbs  GCouemevedul eTHHemenm BT H6IM6D
(Wirmir?

a. 48 B. 96 C.90 D. 84

A and B can do a piece of work in 20 days and 30 days respectively. They started the work
together and B left after some days of work and A finished the remaining work in 5 days.
after how many days B left?

a.8 b.9 c. 10 d. 11

A oppib B o f8unt @ Gauemevenws  (pedmBuwi 20 wmmid 30 mreisefled  (pQlILIT  SiQUTSHET
Bmaumld QeapTadF BaFmbal Caumevenuld OCFHTLRSMT. 6o HreTweT Geuemev OCFulsh LIng B
el CFamielGamTT  WHpeTen Gauemevenws A spemeuT 5 BT Seled (LphBBIT ereflled 'B"
THBHM BT6THEHHG LIBEG Cousmevenw! el (bF CgemmmiT?

a. 8 b.9 c. 10 d. 11

A alone works for 3 days and B alone works for 6 days to complete the same work. How long
will it take if they work together?

a.3 b. 4 c.9 d.2

A aauaT @m Geouemevenul 3 BT &HEHD B ereiueuT 6 BT SEHD (LPQLILITTHET 6lelled  EHeUHLD
Gabal SIbdH Gouenevenul 61&HHMeT HTeTH660 (LPIQLILITTSH6IT?

a.3 b. 4 c.9 d.2




| Apre L0 |

82. A and B can do a certain piece of work in 10 days. B and C can do it in 12 days and C and A in

20 days. In how many days A alone can do the same work?

a. 25 b. 35 c. 30 d. 40

A wppib B Goibal @b Geaumevenws 10 mmsefled (plriumiser, B wmmip C Gsipbem 12

Bl sefled (pluriser, C wmpid A 20 pmsefled (pgliLmTser eeaflsd A LG Dbd Ceuensvenul

THHewen BT Heiled (Lpiglimr?

a. 25 b. 35 c. 30 d. 40

83. 30 men can do a piece of work in 10 days. In how many days 15 men can do the same work?
a. 20 days b. 25 days c. 30 days d. 15 days

10 preisefled @ Geuemevenws 30 SLeWIH6T (PQLUTTH6T eleled 15 Suewidel 6% Geusmevenul
T5HHME [BT6ITH6I60 (LIQLILITTSHGNT?
a. 20 mr el b. 25 mr e c. 30 prser d. 15 pr el

84.  If 3 men or 9 boys can finish a piece of work in 21 days. In how many days can 5 men and 6
boys together do the same piece of work?
a.12 days b. 9 days c. 14 days d. 15 days

3 SUeWIB6T DIGL6VHI 9 LTeTUTH6T 6(h GCouemevenwt 21 BIT6TH6MNED (LPQULITTHET 6160160, 5 L600TH6N
LB@ID 6 wrewieTseT Caibeh b Coumevenu! 615HHMme BT H6M60 (WIQUILITTESET?
a. 12 mm’sei b.9 B el c. 14 pmser d. 15 ®m et

85. A person travelled at a distance with uniform speed of 9 km/hr and return to the starting
point with the speed of 3 km / hr. Find the average speed of the whole Journey?
a.45km / hr b.5.5 km/hr c.6 km/hr d. 6.5 km/hr
QT GPILL Fpdems 9 @b/ wenll CussHdled GFeedmrt Hmw sumbd Gurg 9168
amsHmae 3 &S / el GaussHded Caaipmed oeufler Fymam Geusld ereen?
a.4.5 &8/ wenf b.5.5 &us / wewl c. 6 &5 / wewl  d.6.5 &S wewl

86. A man can complete a journey in 10 hrs. He travels First half of the journey at the rate of 21
km/hr and 2nd half of the journey at the rate of 24 km/hr find the total journey in km?
a. 220 km b. 224 km c.225km d. 228 km
RpUT @b GPUILL sméemg 10 wewl CHIHHed SLSIMIT. DiFHed (WHev uTH SMIHms 21
s / el CousdHaid DIBHS UTH SMIHmS 24 S / wenll GaussSHNID HLHHTE D6
sLbHS OTHs SHMID eelelere) (in km)
a.220 &l b. 224 &.6 c.225 &8 d. 228 &8

87. A train covers a certain distance of at a speed of 200 km/hr in 5 hrs. to cover the same
distance in 2 hrs it must travel at what speed?
a. 600 km/hr b. 500 km/hr c. 550 km/hr d. 450 km/hr
@ Osmieueniy G L smysdmse 200 km/hr Gaussdled 5 wewdl CHISHHed &L SBMSI. 6Teiled
9183 aMHma 2 wenll CHIHdHed HLbH OFHTLTeuamng eelalene] Casdhdled OFsdev GouewiBLd?
a. 600 &.8 / ew b.500 &..0 / wenf
c. 550 &8 / wenf d. 450 &S / wewd

88. A truck covers a certain distance in 12 hours at the speed of 70 km/hr. What is the average
speed of a car which travels at a distance of 120 km more than the truck in the same time?
a.76 km/hr b. 85 km/hr c. 82 km/hr d. 80 km/hr
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am Lgd 70 km/hr Gussdled @b GPIUILL smésms SLés 12 wawil Cpyb  abBHS
QaTedBa  emmed @b &1 6% GCrrsHded 1rd e HMEHMs ol 120 km  oi@s
CFe0dBal. eiedlled sTHeLW Fyngfl Geusld eTeileuerney?

a.76 &8 / wemf b.85 & / wewl .82 &S / wenll d.80 H.S / wewd

A person Walking 3/4 of his usual speed is 10 min late to his office. Find his usual time to
cover the distance?

a. 10 minutes b. 50 minutes c. 30 minutes d. 40 minutes

R LANST et Queouner GCoussHHed Y4 Geusld vwewid GFUHTEO 10 BOLD  SHTOSOTH
DIIIGVBID CIFeLTT 6lelled ST BUIOLITS DibHSH HMTHMSH SLLUUSBE 1BHH Oamerend GBI
eT6vT601?

a.10 ML b.50 B c.30 Bl d. 340 B

A man travelled a distance of 61 km in 9 hours. He travelled partly by foot at 4 km/hr and
partly on bicycle at 9 km/hr. Find the distance travelled on foot?

a.16 km b. 18 km c.24 km d. 10 km

Q@ WalsT 61 LT HMIHms 9 wenl CHIsHdled SL&HSMIT. SeuT GUILILL SMTHme 4 S
/ el GausdbHed BLBSZID BHupeien sMrsHmek 9 S/ wawi Causdded  1deuemngued
UWwenlbBBIT eTefled SjeuT BLbHGH LD QFUlsH ST 6leotenn?

a.16 &.8 b. 18 &.i8 c. 24 & d. 10 &.8

If man walks at 4 km/hr to an office he was late by 5 minutes. If he walks at 6 km/hr he
reached office 8 minutes earlier. Find the distance travelled by him to an office?

a.2.7 km b. 2.6 km c.24 km d.3 km

@ BUT 4 &S /wenll CaussbHed BLHSHTEO 5 ML HTOFHOTH DVIOSSHBE CFe0eauTT. L6
ot 6 @i / el GaussHdHed BHLHSTL 8 BIOLID (RIS TEC  DiVaIvESHBESG GlgFevauiT
GTN6L SIAUT DIVIIVSHHMBE HLHSH OCFIB HMJLD 6eleuena]?

a.2.7 &l b.2.6 &. c.24 & d.3 &

Excluding stoppage, the speed of a bus is 54 km/hr and including stoppage it is 45 km/hr. for
how minutes does the bus stops per hour?

a.8 b. 10 c.12 d.13

PoISHIOL D Beveomoed @ Bumbdar Geusd 54 i / wenll wBHID BRSSO EHHST6V
BGousmid 45 Hub / wewll erefled DeWNBE elelalena] BIOL BIB6eT GUBHSH BHBISHSII 1L FH?

a.8 b. 10 c.12 d.13

The average of six consecutive odd numbers is 46. What is the smallest of these numbers?

a. 42 b. 43 c. 44 d. 41

SbS5HBHS W BBLLML  OHTLT eeuisaiear FIrafl 46 eeled BFHe0 o 6ien WHH GMMbH
cTeutemilell LI Tenend HTewics?

a. 42 b. 43 c. 44 d. 41

Average of five consecutive even numbers is 280. What is the largest number among these?

a. 284 b. 286 c. 280 d. 278
MhdH Il lumL OFHTLT eenidefer Fyram 280 eeled SiFHed WOSLIGLITWI 6TemTen6IT HTENRISH 7
a. 284 b. 286 c. 280 d. 278

The average of a group of men is increased by 8 years when a person aged 22 years is
replaced by a new person of aged 62 years. How many men are there in the group?
a. 6 b. 8 c.4 d.5
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22 auW ML Ul @H BLBHBEG UHeoTd 62 euwghenl W @b Ldw puT wrppluBd Curg Siemiser
Gwaler ggmafl 8 oueiihaer SHsMEHSEBSHI. 6Tafled G(aN60 THHME SLEWIH6IT ©_6iT6meuT?
a.6 b. 8 c.4 d.5

The average age of three men A, B and C is 45 while the average age of three men B, D and E
is 52 kg. What is the average age of A, B, C, D and E?

a. 48 b. 50 c.52 d. Data inadequate

A, B, vppp C gddu cpadim eyemidenen gyrgfl euwg 45, B, D wpmid E eudw  cpesg)
apemiseien agraf suwug 52 kg eafed A, B, C,D wppiw E— er gymafl euwig ereten?

a. 48 b. 50 c.52 d. sre GuUITHIOTEIHTE Bevenev

Average cost of 5 pen and 4 pencil is Rs. 36. The average cost of 7 pen and 8 pencil is Rs. 48.
Find the total cost of 36 pen and 36 pencil.

a. 3445 b. 3132 c. 3320 d. 3543

5 Guenm wB@ID 4 Oueiidleler gymafl alemev ep 36. 7 Guenm BE@ID 8 Oueidledear ggmafl alemsv
ah 48. Qrssbd 36 Guenm BmID 36 Oueadede alenevenuid el pilweb?
a. 3445 b. 3132 c. 3320 d. 3543

The average age of four student is 15. If age 18 was misread as 10 during the calculations,
what will be the correct average?

a.17 b. 18 c. 20 d.16

BTeii LomewieuTaeflenr ggmafl  euwg 15, seuddSlgear Gurgl 18 euwend 10 el Houpns
LS mHhHHTe0, Fhwmer syrafl eaieieuTd BmHa@D?

a.17 b. 18 c. 20 d.16

The average marks in English subject of a class of 24 students is 56. If the marks of three
students were misread as 44, 45 and 61 of the actual marks 48, 59, 67 respectively, then what
would be the correct average?

a. 56.5 b. 59 c.57.5 d. 57

Qb euGUler 24 wreueuTsefer SimiFeoll UTLSHer ggraf  wHLGLTSeT 56. DiFHe0 cpeimi|
LOTERIEUTHAMNET 2 6ulenLOWITE SHILIGILIGHISH6T 48, 59 BmId 67 eaLUuSBEG UHeoms 44, 45 OBHID
61 ol HouBTad HeiSHL B DmLler o eaxienwowimer FImafl LHICLETIH6NT 66666y ?

a. 56.5 b. 59 c.57.5 d. 57

The average age of a husband and wife was 23 when they were married 5 years ago. The
average age of the husband, the wife and a child who was born during the interval is 20 years
now. How old is the child now?

a. 8 years b. 4 years c. 6 years d. 10 years

5 eiBBHEHHG (W& H(Hwewid OFUIsH OFTewiCung Heveus - weeralule gyrafl euwg 23
LG, HBOLTNSHI SHewieuet, Leveal. GWbHmse (DL Geuafulled UBbaTT)-Qer Fgmafl  euwig 20
EWIBHHET 610160 GWHmBHEG BUICUTH 6T6ileu6ey 6T

a.8 eu@pLIb b.4 eu@pLb c. 6 aupLID d. 10 eugpLID
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